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2007 Y TN — MXBYI NN X121 - MND 0N
2006 LOMIX TYM - MXHYI NNNY X1 - NN 023N
2006 XD TYM — MRBYI ANN? X120 - MNIND 0°2°3n

2005 72HVDD YW — MRXHWA NNNY X121 - MDY 22N
2005 Y™OK 1YW - MBI NN X12H - AUMIND 20N
2004 12MVOD VM — MXHBYI NNNY X1an - NN °2°N
2004 X120 TYM — MRHBYT NNNY X12n - MIINDI 02N

2003 °21 T3 — MXHDYT NNNY X121 - DMIND D°YIN
2003 IXI2D TIM — MXHDWT NNNY X121 - MNIND 29N

2002 °%7 T3 - MXHBYR NN X1an - MNIND o°9n
2001 XD TYM = MRHWT NNNT X2 = MNIND 023N

2000 °%7 TYM - MXHBA NNNY X121 - NIMNDI 03N

1998 °21 TYM - MXBWA NNNY X121 - MNIND1 03N
1998 IXMIAD TYM — MRHBY NNNY X1 - NN OYIN

1997 °97 TPM = MXHYA NIN? X121 - Mo 023N
1997 IXTI2D TYM - MXBYA NNNY X120 - M 0N
1996 °21 73 M — MRBWA NNN? X2 - MNP 02N
1996 INIAD TYM - MRBWA NNNY K12 - NNIND 23N



DIIND PYPIPH MIXBYA 0°IN1 - *2°112 1913

N WY
PYRIPS N3P MNP MWSA KWNI MNIND 2730

345
359
373
385
395
405
437
471

2006 Y0 TN — PYRIPR NIYN2 NP M3 - NMND1 073N
2005 VDR TYM = PYRIPH NIWA2 MIMPY M3 = NN 0°7°37N
2005 Y TYM — PYRIR NI MNP M3 - MNIND B3N
2004 57 TN — PYPIPR NI MNP M3 - MNIND °2°4N
200372 TV — PYRIPI NN NP MET°3 - NN 0°7°30N
2002 K1 T — PYRIPI NIYA2 NUMPY M3 — NIMNDY 0°2°27N
2001 T2BVDD TYM — PYPIPR NIWI NP M3 -~ MO 023N
200091 TV — TYPIPR NI MNP MY - NN 02N

IRIAD TV~ PYRIPH NIWAI MNPV ME°3 = MR %N
519 1999

wbw WY
PYPIPH MINHYI DMWY KW D93

569
581
603
627
645

2006 °XD TN - PYRPIPR MRHYI DY - MNIND 23N
2006 IO T - PYPIPH MDY DY - MNIND 023N
2005 DOINX T - PYPIPH MXHDYI DY - MNIND 0°2°3N
2004 °91° TV - PYPIPH MXBY2 DI = MNIND 0°2°3 N
2003 72020 TN - PYPIPH MRXBWI DMWY - MNIND) 0°2°37N



